Math 232 Calculus 2 Fall 12 Midterm 2a

Name: Od\Uaflon)

e Do any 8 of the following 10 questions.

e Youmay use a calculator without symbolic algebra capabilities, but no phones.
e You may use a 3 X 5 inch index card of notes.
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(2) Find / sin(4x) cos(7x) du.
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(6) Find /ﬂ 1 % .
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(7) Find the center of mass of the region with constant density p = 1 inside the
circle 22 + y* = 1, and in the first quadrant, i.e. z > 0 and y > 0.
Hint: You may use the fact that the area of the whole disc is 772, and, by
symmetry, you may assume that the center of mass lies on the line = I
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(8) Find the degree three Taylor polynomial for the function ) =sinlz*).
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(9) Does the series Z

onver r diveree? Justi OUr answer.
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(10) Does the series Z 1 Converge or diverge? Justify your answer.
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